-0.15F[H{-

Ratio

< 0dy > (Um)

< 0 pT/pT > (V)

Ratio

< 3 @>(rad)
©
=
Ul
IIIIIIIIII

[y
D O O
T

N
T

2

1o o N w N

o0 AL LA LA L AR

n(‘mnn

-1

0 1 2 3
TP n (PCA to beamline)

< dcot() >
o
=
[¢)]

.........

.........

.....

............

............

o0 ALl AL LA L LR

-1

0 1

TP n (PCA to beal

2

llll!{

Sgd..n{vmu. +op0evt
egé %%igﬁ 1RO TLIERS 1000evt

oF--{f

-1

0 1 2 3
TP n (PCA to beamline)

S A N 1
g e -
26— Jof LA ML N A
£ttt L
o SRAIIE |18 1L
: : hi :
L L il i
-1 . r ;

0 1 2 3
TP n (PCA to beamline)

—~

< 8d,>(um

10
80
60

(@8 LA LR LALL LA LR

-1

0 1

2

3

TP n (PCA to beamline)



	Contents
	Page 1


